Systems Architecture

First Exam

Spring, 2010

Name:………………………………………………………………………………………………………………………………

Q1: Fill in the blanks for each of the following:

1- (3pts)Mechanical implementation suffers from many problem, Name 3 of them?
2- (1pt)General purpose Processors are
3- (3pts)Processing includes ……………………………………….and……………….. ……………………. 

and…………………………………….
4- (1pt)Registers are
5- (3pts)Mainframe are designed to serve………………………………….………and………..………….

 and…………………………………………
6- (4pts)Show in steps the role (دور) of System software when the user requests a service:
7- (4pts)Name 4 characteristics of Grid computer configuration

8- (4pts)System Software layers functions are divided into 4 layers which are
Q2: Which of the following is TRUE and which are FALSE   (5pts)
1- Each computer function requires one HW device to be performed.

2- Access speed affects computation speed positively or negatively. 

3- Secondary storage composed of a high-capacity nonvolatile storage devices.

4- As the complexity of the computational function increases, the complexity of design the optical devices that performs decreases.

5- CPU a special purpose processor executing all instructions and controls all data movement within the computer system.

Q3: Do the following calculations == You MUST show your calculations
a- (2pts)   119 = ………………….. in hexadecimal

b- (2pts)   67  =…………………… in octal

c- (2pts)   (100011101)  / (101)

d- (2pts)   (10100111110011101)  in hexadecimal  is………………….  
 And in octal is……………..

e- (4pts)   Represent  - 68.54 in computer memory
